A& ol ot A e g

Al A

FA Aot
N gle2 22 s
SRl AT Pel(MSTARISESN) CERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
aote=E1 109,748,636 110,891,871 1,143,235
= 45,564,000
[ 830,000
= 8,898,000
Al 54,456,636
2= =2 22U 28,352,604 26,513,158 1,839,446
= 830,000
Al 27,522,604
= 2| (M= AIESLESIH) 28,352,604 26,513,158 1,839,446
= 830,000
Al 27,522,604
Alrg=3At 1,109,290 970,000 139,290
401 AIEHIZ SO 1,048,000 970,000 78,000
01 Al&H| 1,048,000 970,000 78,000
m= SAHH 1,048,000,000& 1,048,000
405 AtatsE = 61,290 61,290
01 TR ESFISHI 61,290 61,290
mAIR A HIS 3,500,000& 3,500
ma= ZEXE 57,790,000 57,790
g+ 12,669,263 13,274,680 AB05,417
206 M=l 12,638,263 13,243,680 AB05,417
01 MZH| 12,638,263 13,243,680 AB05,417
CIRSEe el 12,638,263,000& 12,638,263
301 EtE NS 1,000 1,000
14 JIEt2 a3 1,000 1,000
mE==A0N 2o 1,000,000& 1,000
802 grat=JIEt 30,000 30,000
03 DIEIBtE =S 30,000 30,000
CInIgS=i= e 30,000,000 30,000
Ngar= ALY AE2SE 10,700,328 10,620,328 80,000
307 lztol & 10,700,328 10,620,328 80,000
05 2ItRIE =S 10,700,328 10,620,328 80,000
mXIgatC PIEAISH]
10,700,328,000& 10,700,328
Sr79 2y 2,490,723 814,150 1,676,573
203 =2l 1,000 1,000 0
03 A=A PR FZ| 1,000 1,000 0
mEHSHAY =& & 2AHT 2
1,000,000& 1,000
401 AlEHIZL SO 2,489,723 813,150 1,676,573
01 Al&HI 2,483,000 810,000 1,673,000
ST SATAY 983,000,000& 983,000




SN MBS
Nu: gleg 23 s
TRl AT TR (ALTAISES ) (69 =)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
mASNE ME & BxZA
100,000,000 100,000
m=CHHDIZAHE(BY) =8 29
1,400,000,000& 1,400,000
03 Al 20HHI 6.723 3,180 3,573
ST EHAY AER0I
6,723,000& 6.723
HHAl =22 SHIAY 1,383,000 537,000 846,000
= 830,000
Al 563,000
403 MR HHMSAHE01H 1,383,000 537,000 846,000
[ 830,000
Al 553,000
02 SISOt =2 A A E A I 1,383,000 537,000 846,000
w2 FHIAE 1,383,000,000& 1,383,000
[ 830,000
Al 553,000
ot HE 76,456,000 75,753,319 702,681
= 45,564,000
& 8,898,000
Al 21,994,000
X301 2 (Gt AIESESIH) 76,456,000 75,753,319 702,681
= 45,564,000
< 8,898,000
Al 21,994,000
S0t S| 10,466,000 7,615,000 2,851,000
301 LELE NS 10,000 5,000 5,000
11 dALEEIXIZE S 10,000 5,000 5,000
mot=XeIAE =2 SXAS AN
10,000,000 10,000
401 AIEHIX R0 10,456,000 7,610,000 2,846,000
01 A28l 10,446,000 7,599,000 2,847,000
w330t &bl 9,546,000
OAIZH| 9,546,000,000& 9,546,000
mZ 3ot &l 22l
900,000,000 900,000
03 Al 2CHYI 10,000 11,000 21,000
m=SoteE 10,000
OAIE = bl 10,000,000 10,000
T& - AY0IS ot=XIcIAE EX At 2,112,000 1,325,000 787,000
= 1,479,000
= 316,000
Al 317,000
401 Al HIZ S 0HbI 2,112,000 1,325,000 787,000




SN MBS
B Sl #E
Cl XMRIIY 2 (ST ARSI (o) &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 1,479,000
=S 316,000
Al 317,000
01 AIZHI 1,812,000 1,025,000 787,000
WP - A0S BBEIETRIAIL LXIA
& 1,812,000,000& 1,812,000
= 1,300,000
S 256,000
Al 256,000
02 2/l 300,000 300,000 0
WTE - GE0S RRSSXIAL ARIA
& 300,000,000 300,000
= 179,000
s 60,000
Al 61,000
HHIEL St==2tH ZHIARY (2E242) 2,790,000 4,905,000 22,115,000
= 1,953,000
=S 418,000
Al 419,000
401 AIEHIZ SR 0HYI 2,790,000 4,905,000 /2,115,000
= 1,953,000
= 418,000
Al 419,000
01 AlIZHI 2,529,000 4,334,600 21,805,600
WANS ot=2H ZHIAI (2EHH)
2,529,000,000& 2,529,000
= 1,752,300
= 387,850
Al 388,850
02 Zeltl 260,000 570,000 A310,000
mAKS ot=2tH HHIAF (2EH)
260,000,000 260,000
= 200,000
= 30,000
Al 30,000
03 A& S CHYI 1,000 400 600
mAKSS ot=2tH ZHIAF (2EH)
1,000,000 1,000
= 700
=S 150
Al 150
0= ot=HMelAld ZXIALY 4,440,000 2,954,000 1,486,000
= 3,108,000
=S 666,000




SN MBS
B Sl #E
Cl XMRIIY 2 (ST ARSI (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 666,000
401 AIEHIX 20 4,440,000 2,954,000 1,486,000
= 3,108,000
= 666,000
Al 666,000
01 Al&H| 4,024,000 2,754,000 1,270,000
mIB0E S3otrXclAlE 2XA
4,024,000,000& 4,024,000
= 2,826,000
= 599,000
Al 599,000
02 Zaltl 415,000 200,000 215,000
mEE0IS SSoteXclAlE EXAY 415,000
ool 415,000,000 415,000
= 281,300
= 66,850
Al 66,850
03 AlZ = THHI 1,000 0 1,000
mI 0= SSoteXclAlE EXAE
1,000,000 1,000
= 700
= 150
Al 150
FEIS S3oteXclAlE EXIAE 2,632,000 143,000 2,489,000
= 1,843,000
= 394,000
Al 395,000
401 Al HIZ S OHbI 2,632,000 143,000 2,489,000
= 1,843,000
= 394,000
Al 395,000
01 Al&H| 2,371,000 143,000 2,228,000
mFE0S S3oteXclAlE 2XA
2,371,000,000& 2,371,000
= 1,642,300
= 363,850
Al 364,850
02 Zcltl 260,000 0 260,000
mEEIS SSoteXclAlE EXAY
260,000,000 260,000
= 200,000
= 30,000
Al 30,000
03 Al =2 THHI 1,000 0 1,000




A Aots=EDt
B Sl #E
ol MBI 28 (S ASH S| (SHol: )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
WEE0S BBoIEHIAE ARIAY
1,000,000& 1,000
= 700
= 150
Al 150
DEXF ot=S 8l SE22XNSD E02ALS 3,209,000 6,476,000 A3,267,000
= 2,246,000
Al 963,000
401 A& B 20HY| 3,209,000 6,476,000 23,267,000
= 2,246,000
Al 963,000
01 AlEHI 3,150,110 5,838,000 A2, 747,890
W ISEXF ot+=E8Hl SE 22| XY S0
gAY 3,150, 110,000& 3,150,110
= 2,204,760
Al 945,350
02 2eldl 47,490 575,000 AB27,510
W7 SIATEE SENA 40
AL 47,490,000 47,490
= 33,240
Al 14,250
03 A& 2 CHYI 11,400 3,000 8,400
WOSEXF S8 SE22XS &0
AL 11,400,000 11,400
= 8,000
Al 3,400
DY(HS)0H2 2 3L BIGHEHRIAIE SXIAE( 10,844,000 1,200,000 9,644,000
FDA)
= 7,591,000
= 1,626,000
Al 1,627,000
401 AIEHIZ20HHI 10,844,000 1,200,000 9,644,000
= 7,591,000
= 1,626,000
Al 1,627,000
01 Al&HI 10,085,000 1,200,000 8,885,000
WO (HS)0I2 2 3MA st=XH2lAlE 4
XA 10,085,000,000& 10,085,000
= 7,000,000
= 1,542,000
Al 1,543,000
02 2eldl 758,000 0 758,000
mOEH(EHS)0I2 2 ML St=HelAlE &
XIAFS 758,000,000& 758,000
= 590,300




SN MBS
B Sl #E
Cl XMRIIY 2 (ST ARSI (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 83,850
Al 83,850
03 Al 2 0HHI 1,000 0 1,000
WISH(HE)0S 2 PN siHIAlL &
XA 1,000,000& 1,000
= 700
= 150
Al 150
ZR(SD)0IS 9 hL BBEH2IAE ARIA( 676,000 676,000 0
FDA)
= 473,000
= 101,000
Al 102,000
401 AIZHIZ SO 676,000 676,000 0
= 473,000
< 101,000
Al 102,000
01 A&t 561,000 576,000 15,000
TR(IT)0IS o HA SATRAE &
XI AL (FOA) 561,000,000& 561,000
= 400,000
< 80,000
Al 81,000
02 Zeltl 115,000 100,000 15,000
WEZ(S2)0t2 2 1A StHelAld &
XAk (FDA) 115,000
OZeldl 115,000,000& 115,000
= 73,000
= 21,000
Al 21,000
K= B3ote=xelAld EXA 143,000 143,000 0
= 100,000
= 21,000
Al 22,000
401 A& HIX R0 143,000 143,000 0
= 100,000
& 21,000
Al 22,000
01 Al&H| 113,000 143,000 30,000
WXIAS BToHEHRIAE ST
113,000,000 113,000
= 83,000
< 15,000
Al 15,000




2A:
T ZH -
o e

Sk

S - B

- SHRABA) - HRAY - BES

Ofl &F2H

MEE
Ofl &k2h

02 Zteltl

mX&E SSotxelAlE EXNAE

30,000,000

hoH

=

30,000

30,000
17,000
6,000
7,000

Al

=
[o—

Ot S3at=+HelAl

Ar

mhnoH

=

7,436,000
5,205,000
1,115,000
1,116,000

571,000

6,865,000

401 AIZHIZL 20

Mo

7,436,000
5,205,000
1,115,000
1,116,000

571,000

6,865,000

01 A&l

mAIELS SSoteMelAlE SEAMY

S
> 0
ul
o

Thh
2
1o

7,036,000,000&

SE0t=HelAlE SEAY

400,000,000

Mo

=

7,036,000

7,036,000
5,005,000
1,015,000
1,016,000

400,000

400,000
200,000
100,000
100,000

471,000

100,000

6,565,000

300,000

o
o)
Qj
4>
s}
N

ZHIAH

1%

(2E2H1)

Mo

=

512,000
359,000
76,000
77,000

215,000

297,000

401 Al HIZL S 0HYI

Mo

=

512,000
359,000
76,000
77,000

215,000

297,000

01 AlZHI

WAISH ot=2t] FHIAFS (2EH)

02 Zteltl

432,000,000

WALSS Gh=2t01 FHIAMY (2EHH))

80,000,000&

Mo

A

432,000

432,000
309,000
61,000
62,000
80,000

80,000
50,000

215,000

217,000

80,000




SN MBS
B Sl #E
Cl XMRIIY 2 (ST ARSI (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 15,000
Al 15,000
HHMIAl ot==ciXl AXAIE XA 10,161,000 1,180,000 8,981,000
= 6,659,000
< 1,426,000
Al 2,076,000
401 AIZHIZL SO 10,161,000 1,180,000 8,981,000
= 6,659,000
== 1,426,000
Al 2,076,000
01 Al&HI 9,011,000 1,080,000 7,931,000
WHRIA S4224X AZAIE EXAL
9,011,000,000& 9,011,000
= 5,909,000
== 1,226,000
Al 1,876,000
02 Zeld| 1,150,000 100,000 1,050,000
WHMAl St==cikl HAEAIE EXIA
1,150,000,000& 1,150,000
= 750,000
< 200,000
Al 200,000
HEO0S S3ot=HelAE EXA 292,000 275,000 17,000
= 205,000
== 43,000
Al 44,000
401 A2 HIRL 201 292,000 275,000 17,000
= 205,000
=S 43,000
Al 44,000
01 AlZ8| 292,000 275,000 17,000
mWIENS SEote=XelAld EXA
292,000,000 292,000
= 205,000
= 43,000
Al 44,000
A0S S3ot=XclAlE EXIAE 9,282,000 405,000 8,877,000
= 6,497,000
= 1,392,000
Al 1,393,000
401 Al HIZ S OHbI 9,282,000 405,000 8,877,000
= 6,497,000
= 1,392,000
Al 1,393,000
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=aak
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S
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H0
ol
Jim

A(ot=ZAIEEE

Al

ton

SA - Z3F - SRA(E) - HRAEY

- HyS

Ofl &F2H

MEE
Ofl &k2h

01 A=l

02 Zeltl

mAIHOS SEot=XelAlE EXA

8,518,000,000&

mAIHOIS SEoteXelAlE EXAY

764,000,000

hoH

=

hoH

=

8,518,000

8,518,000
5,893,000
1,312,000
1,313,000

764,000

764,000
604,000
80,000
80,000

405,000

764,000

BX0t2 S3otrHelAld EXAE

hoH

=

j—y

,302,000
911,000
195,000
196,000

143,000

1,159,000

401 AIZHIZ 20

mnoH

—

,302,000
911,000
195,000
196,000

143,000

1,159,000

01 A&l

mEXI0ES S3oteHMelAlE EXAY

1,302,000,000&

Mo

=

—

,302,000

—_

,302,000
911,000
195,000
196,000

143,000

1,159,000

UAHIOLS SSot=HelAlE XA

Mo

=

w

,070,000
2,149,000
460,000
461,000

2,100,000

970,000

401 Al HIZL S 0HYI

Mo

=

3,070,000
2,149,000
460,000
461,000

2,100,000

970,000

01 AlZHI

02 Zteltl

mICHAHIOLES S3otHMelAlE XA

2,750,000,000&

mIHAHIOLS SSotHMelAlE EXIAY

320,000,000

Mo

A

2,750,000

2,750,000
1,949,000
400,000
401,000
320,000

320,000
200,000

1,800,000

300,000

950,000

20,000




SN MBS
B Sl #E
Cl XMRIIY 2 (ST ARSI (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 60,000
Al 60,000
SH0IE S3ot=HMelAlE EXIALS 1,850,000 1,310,000 540,000
= 1,295,000
< 277,000
Al 278,000
401 AIZHIZL SO 1,850,000 1,310,000 540,000
= 1,295,000
== 277,000
Al 278,000
01 Al&HI 1,650,000 1,310,000 340,000
m2AL0lS SSot-XclAlE XA
1,650,000,000& 1,650,000
= 1,175,000
== 237,000
Al 238,000
02 Zeld| 200,000 0 200,000
m2AH0lS SSot-XclAlE XA
200,000,000 200,000
= 120,000
< 40,000
Al 40,000
THL ZIoteHelAE XA 313,000 500,000 A187,000
= 188,000
== 62,000
Al 63,000
401 A2 HIRL 201 313,000 500,000 A187,000
= 188,000
=S 62,000
Al 63,000
01 AlZ8| 313,000 500,000 A187,000
mZEZ0IS 2 1A S3ot=xelAld 4
XA 313,000,000 313,000
= 188,000
S 62,000
Al 63,000
502 S3ot=XclAlE EXIAE 143,000 192,000 /49,000
= 100,000
S 21,000
Al 22,000
401 Al HIZ S OHbI 143,000 192,000 49,000
= 100,000
= 21,000
Al 22,000




SN MBS
B Sl #E
Cl XMRIIY 2 (ST ARSI (o) &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
01 Al&HI 143,000 192,000 /49,000
WES02 DBEIEH2IAE XA
143,000,000 143,000
= 100,000
< 21,000
Al 22,000
SH0t= SESot=HlAE EXNA 167,000 500,000 A333,000
= 100,000
[ 33,000
Al 34,000
401 Al HIZL 201 167,000 500,000 A333,000
= 100,000
== 33,000
Al 34,000
01 A&l 167,000 500,000 A333,000
WOIA DREAFEIAE EXAY
167,000,000 167,000
= 100,000
s 33,000
Al 34,000
ZE - S3KF SE22XY E0LAS 3,336,000 186,000 3,150,000
= 2,335,000
Al 1,001,000
401 Al HIZL 2018 3,336,000 186,000 3,150,000
= 2,335,000
Al 1,001,000
01 AlZH| 3,274,640 186,000 3,088,640
mEE. S5X7 SN S0 At
3,274,640,000& 3,274,640
= 2,292,050
Al 982,590
02 2/l 49,360 0 49,360
mEE . S3X7 SN S==0LA
49,360,000 49,360
= 34,550
Al 14,810
03 Al 2 THHI 12,000 0 12,000
mEE. S5 SEACINE F0L A
12,000,000& 12,000
= 8,400
Al 3,600
YRS A0S BSot=HMelAlE EXIAY 680,000 833,000 153,000
= 408,000
s 136,000




SN MBS
B Sl #E
Cl XMRIIY 2 (ST ARSI (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 136,000
401 AIEHIX 20 680,000 833,000 /153,000
= 408,000
= 136,000
Al 136,000
01 Al&H| 558,000 833,000 A275,000
WOUT| - 2 DIRSIAHRIAE SEAL
568,000,000 568,000
= 368,000
= 100,000
Al 100,000
02 Zaltl 122,000 0 122,000
WX - LY SSot=H2IAE SEMS
122,000,000& 122,000
= 50,000
= 36,000
Al 36,000
SiSlt= S3ol=XclAle SEAE 500,000 0 500,000
= 300,000
= 100,000
Al 100,000
401 AIEHIX SO 500,000 0 500,000
= 300,000
& 100,000
Al 100,000
01 Al&H| 500,000 0 500,000
WS S0ts S3otXclAlE SEAE
500,000,000& 500,000
= 300,000
< 100,000
Al 100,000
A0S ol=2t2 FHIALY 100,000 0 100,000
= 60,000
< 20,000
Al 20,000
401 AlEHIZL SO 100,000 0 100,000
= 60,000
== 20,000
Al 20,000
01 Al&HI 100,000 0 100,000
mAHE Sh=2t01 FHIARS (2EHH])
100,000,000 100,000
= 60,000
s 20,000




S aEtE
M ST #H
Sl NY30IY 2 (S-S AdSESIH) (Ero:Ee)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
| 1] Al 20,000
BH YA (B 2,089,363 5,546,694 /3,457,331
ol 2| (St AR SESI) 1,046,256 3,663,175 /2,616,919
ol 2ay| 1,046,256 3,663,175 12,616,919
101 1248 951,402 3,565,665 12,614,263
01 24 951,402 2,855,202 1,903,800
w23 626, 724,0002 626,724
[ 216,027,000& 216,027
WS A 23,520,0002! 23,520
DER=EPlL 62,673,0002! 62,673
21D ALY 22,458,002 22,458
204 HR4eAY| 48,360 0 48,360
02 SHA2FY| 48,360 0 48,360
WSHAPAH| 18,240,002 18,240
ORISR 30, 120,0002! 30,120
304 P2RE3S 46,44 97,510 A51,016
02 2LIALBET 46,494 97,510 A51,016
CERIEEECE 46,494,0002 46,494
Jl2 3 (St=CAIIS S 194,903 966,824 ATT1,921
o= 194,903 966,824 AT71,921
201 Yer2 | 120,863 877,384 A756,521
01 AkR2rely] 91,363 718,384 627,021
CEEISS=E] 91,363,0002 91,363
02 232l 29,500 159,000 129,500
mE32| 29,500,000 29,500
202 01t 23,040 66,720 43,680
01 2ot 21,840 66,720 44,880
W+ A LRET 21,840,002 21,840
05 22 BKOiL| 1,200 0 1,200
ME2DSEAA ol 1,200,008 1,200
208 HR=TY| 1,000 6,520 75,520
08 Al YR E=RY| 1,000 1,000 0
WA =R AR 1,000,008 1,000
405 THAHF S| 35,000 0 35,000
01 Rat L SEFH SH| 35,000 0 35,000
motE 22l [e P 35,000,00084 35,000
802 B3| Ef 15,000 15,000
03 DIErEHE2S 15,000 15,000
muRH3 BSOIEEZE)
15,000,002 15,000
01 2| (M TAIIS ) 694,476 780,968 186,492
ol 2g| 694,476 780,968 186,492




SN ABEE Dt
M Y RAZH|(Yot+Z1)
EPl: A2 (A=A SES (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 646,450 629,597 16,853
01 &= 646,450 629,597 16,853
I 2= 626,110,000& 626,110
LIESE= b | 20,340,000 20,340
203 =4l 4,200 4,200
MU FA2SHI LI 4,200 4,200
mEA2E SRFE| 4,200
OZE 25210lct 4,200,000 4,200
204 ARt AH| 14,640 15,600 2960
01 MG AR HH| 1,200 1,200 0
m & (52) 1,200,000 1,200
2 SE3g=3dl 13,440 14,400 A960
mEFE R+ 13,440,000 13,440
M HASFESS 29,186 131,571 102,385
02 2UAHLEES 29,186 27,832 1,354
mAZESE= 29,186,000 29,186
Jl=23HI(&=EAMAEEZI) 153,728 136,727 18,001
Jl=3H] 153,728 136,727 18,001
201 er23| 139,928 115,187 24,741
01 At2tltl 127,828 102,987 24,841
w & et =SH 114,316,000 114,316
m=g+g 840,000 840
m= I 12,672,000 12,672
2 Ss52g4l 12,100 12,200 A100
m332= E HAl 8,500,000 8,500
(m] Xt & & S 3,600,000& 3,600
202 04l 13,800 17,040 A3,240
01 =LHOHI 13,800 17,040 A3,240
D&1:] 13,800,000 13,800
OliHIHI (Bt AF) 800,000 800,000 0
GBIl (Gt ALY ) (Gt=Z AFE SEEIH) 800,000 800,000 0
OiiHI81 (Sh=S ALY 800,000 800,000 0
801 OflHIH 800,000 800,000 0
01 EHolbIgl 800,000 800,000 0
Dl {al]s] 800,000,000& 800,000
OlHlbl (&= Ar) 100,000 100,000 0
OlHIb (&= A ) (A= ALASE3) 100,000 100,000 0
OlHIHI (&= AL) 100,000 100,000 0
801 GBI 100,000 100,000 0
01 Letoldlbl 100,000 100,000 0
CIl{al]s] 100,000,000 100,000
HREs (o= AIdSE31) 1,950,669 210,000 1,740,669




SN MBS
B LBS(SETASEEN)
ol RS (S CAIIS S (B EAIY S 3| H) (SHol: )
= - L=
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
BAXE (Sl AILSESIH) (Sl AL SESIA) 1,950,669 210,000 1,740,669
X |el2 & 1,950,669 210,000 1,740,669
311 XL S0 Rrakst 200,669 210,000 A9,331
05 JIEtXHL S0l Atk 200,669 0 200,669

mAKHEY S3ot=HelAld SEAY Xt
2= OIXtAHEH2E R g &kE

200,669,002 200,669
RS EEER 1,750,000 0 1,750,000
FEETEPEEER 1,750,000 0 1,750,000
WHAEY TRELHAL SLAY T
22 ADABH(EIIT BEAE)

1,750,000,000& 1,750,000




Al & O &8 Ab e & Ml A

ot
ot
BIot4HRINE RS (GHEARSEEIH) (cre): xg)
M- B SRASH) - HRAR - B2 of v e HIDE2
ot=2g 1t 29,743,431 18,248,161 11,495,270
ot=2tel 29,743,431 18,248,161 11,495,270
330t E 2 (=T A A SES ) 29,743,431 18,248,161 11,495,270
S30t=XClAl 29,743,431 18,248,161 11,495,270
101 21AH| 2,653,039 37,39 2,615,640
01 2= 1,879,075 0 1,879,075
WEL0I2Z, 29, FUTAY, BZEIH
HOHE &) 1,879,075
oJlzs 1,208,713,000& 1,208,713
o= 457,457,000 457,457
(OFSR= K 48,720,000 48,720
(©)=FS3 120,872,000 120,872
OS2 4| 43,313,000 43,313
03 3RA(2 733,178 0 733,178
mat=2els 733,178,000& 733,178
04 J12HMI2 40,786 37,39 3,387
mot=Xiel 11,637,000& 11,637
mESE S =g € &4
&Hl 29,149,000 29,149
201 2 16,444,522 9,731,475 6,713,047
01 At2teltl 992,152 541,488 450,664
mGt=XelAlE
992,152,000& 992,152
2 s5=2Y 15,452,370 9,189,987 6,262,383
[mSt=XICI Al . ANEZHI=
Xdl 8) 15,452,370,000& 15,452,370
202 04| 34,800 34,800
01 =LHOLI 34,800 34,800
mEZ0HI(2 34,800,000 34,800
203 gR=F& 7,460 2,000 5,460
03 A=A 2= 2,000 2,000 0
mEtEIIEAE Q1258 IAd A
2,000,000& 2,000
MU A2 LIFLI 5,460 0 5,460
WEASSERFEHI(4198)
5,460,000 5,460
204 APt AH 92,220 0 92,220
01 MG HI A 1,200 0 1,200
CIS={@ES)) 1,200,000 1,200
2 SEF3H 91,020 0 91,020
mSE A2 27,840,000& 27,840
LIRSE= b | 63,180,000 63,180
206 M=Hl 1,178,728 4,374,700 A3,195,972




FA: o2t
Hu: slane
Tl DERAMRIA LS (BHEEAI S E ) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 1,178,728 4,374,700 A3,19,972
motr=XcIAME 28 e 7
1,178,728,000& 1,178,728
4 HASFEESS 56,622 56,622
2 =uAHdEE= 56,622 56,622
m=YUALEE, LSAH €=, 0
238 HEFMEZ 56,622,0002 56,622
307 212+01& 3,588,000 3,087,480 500,520
05 2ItRIE = 3,588,000 3,087,480 500,520
mSt=SA Xl RS b= elAl
S AS=2Y 3,588,000,000& 3,588,000
401 AIEHIX SO 5,561,040 905,857 4,655,183
01 Al&H| 5,545,790 900,582 4,645,208
mot=XICIAIE JHEALS
5,545,790,000& 5,545,790
03 Al 20HHI 15,250 5,275 9,975
WISt CIAIE JHE AL 15,250
OAIE2HHI 15,250,000 16,250
405 AHatE = 127,000 109,250 17,750
01 ML ESFSHI 127,000 109,250 17,750
mSI+ RS S 127,000,000 127,000




